Geometry H Name: KeJ
Unit 2 Test Review Date: J Period:

For the Unit 2 Performance Task and/or Unit 2 Assessment you should be able to...

e |dentify parallel, perpendicular, and skew lines (section 3.1)

e Identify parallel, perpendicular, or intersecting planes {section 3.1)

e Identify corresponding angles, alternate interior angles, consecutive interior angles, and alternate
exterior angles (section 3.1)

e Find measures of angles given parallel lines (section 3.2)

e Prove lines are parallel using the converse (section 3.3)

e Write algebraic proofs and proofs involving parallel lines (sections 2.5, 3.2, and 3.3)

e Find slopes of lines (section 3.4)

e Determine if lines are parallel, perpendicular, or neither using slope (section 3.4)

e  Write equations of parallel and perpendicular lines (section 3.5)

Complete the statement using the figure at the right.

1. ¢zland 5 are corresponding angles.

2. 43and & are alternate interior angles.

3. Z44and b are consecutive interior angles.
4. «7and 2 are alternate exterior angles.

5. Inthe figure below, k||/. What is the value of x and y? Justify your answers.
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6. Given that a||b, what is the value of x? (the figure may not be drawn to scale)
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7. Given /||m, find the values of x. Be sure to check for extraneous solutions. Diagram is not drawn to

scale. consecunve \nenof
a)  ms3=(x"+112)°, m/8 =(16x+131)°
x"§\\af WoXtidl: \go Chee:
I ¥+l 4243 <180 X0 UL = H6)°
/ @ K4 loX+ 6320 )43\ 19°
_ 1/2 5/6 =
/3 /? (x+7)(%+9) =0 %:-9° AUz = 195° % @an have o
to(-8) 131 = % ang\c
- 7‘7/‘1 cgmcawfﬁ
nm ascluhon
b) mZl=(x*-7x)°, m£7=(-x+7)° ait. exieriov
XIH= %+ theek :
Xex-1x-7:0 X=7: (F-1(7) =44-44 70 cont have &
-1+ 0 0 ang\( measure
x'-6%-1:0
(x-1)(x+1)=0 X=-) 2 (A)=1(-1) = 1= ¢
%‘L\X: - ) T = €
A
nota sowuton

8. Given p||t, m£1=(12x-4y)°, m£8=(x—-4y)° and m£5=(15x+8y)°, find the values of xandy,

and the measure of each angle. 15X 48y +X-4y =\g0 & Lineay vavr [aX-4y = 16X+ 8y & oM Ang.
@ »\\V‘ \a* lo X +ty =\€0 -3%-124:0
/ / gystem: i[iuxww l@]3:> Hox+17y = B0
Y = -3 -y 0
mel= 12(12)-4{-3) 3X-y=0 e

4ox=640

mel = 166° |m

mes = 15(12) +§(-3)

mel= 156° [ (12) 44y =\60
e 9 12-4(3) 193 +tg = €0 .
med: a4° tys-1a = |Y="3

Find the value of x that makes m || n. Justify your reasoning with the appropriate theorem or postulate.
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11. Which lines, if any, can you conclude are paratlel, given that m£1+m£2=180°? Justify your

conclusion.

If rael+mea <180, tnes (/1K by tne
/ / consecutve NRIOY angles converse .

{'.t 2 ‘h

§inte corresponding angwes both nave
measures of (05 ajlc by tne corresponding
angles Converge.

13. Describe how we can use slopes to determine:
a. iflines are parallel.

Slopes are Hne some

b. if lines are perpendicular.

§I0Pes are opposite Yeuprowll

14. Describe how we can use angle measures to determine:
a. iflinesare parallel.

Use an angie pair converse, (e, See 1k atk k. angies haue equal meagures )

b. iflines are perpendicular.

Angles shourd hove o measwre of 40°



Use the diagram below to complete the chart. Assume @ || b.

ANGLES TRANSVERSAL | TYPE =, SUPPL., OR NONE
(relationship between angles)
. Zland £
15. ZL1an 14 X CO(TQSPOﬂd\ﬂg CONGYUCY
16. Z2and £ 15
X Consecutive wnierior supplementury
17. Z7and £9 ,
Y atternate Inenor ongiuent
18. Z9and £ 16
b QUENale exienor congruent
19. Z10and £ 17
" y none none
20. Z16and £ 14
xorb verfical anges ongruent
21. Z9and £ 14 )
b LOrvesponaNg congruent
22. Z18and £ 19
" X Lincar Pary supprementury
23. Z1land £ 16 X
avernatt exsenoy wngneny
24, Z3and £ 8
O QlierNate 1nTerioy congnent
25. Z6and £9
Y Consecutwe interioy sugplenmentany
26. Z12and £ 13
b alkrnate Interoy NYUEnt
27. Z7and £11
g Coresponding wngrent
28, Z6and £8
GO {9 verieal angles Longruent
29. L4and £13
X AUEINAK QXARTIOY whgnent




Tell whether the lines with given characteristics are parallel, perpendicular, or neither.

30. Linel: y=—x-4 31. Line a passes through (-5, 6) and (7, -2)
Line 2 : ~5x+5y=20 Line b passes through (-12, -2) and (-9, -4)
Uhel: me-| Unca:tm:72-b -8 . -2
11ty & 3
Lne: by=6x4120 N Perpenchculay \, paraliel
e X+ / Lineb: :Ma: -3 /
m=1 q4 3

Write the equation of the line with the given characteristics.
32. Write the equation of the line parallel to y = 6x — 4 and passes through point P(3, -1).

M= th (3,-1) Y=mxtb

1= 6(3) +b bx-
i lg bx-9 }

b=-19
33. Write the equation of the line perpendicular to y = 2x — 1 and passes through the point P(2, -3).
m: 3t (3,-3) Ysmrth
-2.-4
3z-3{a)tb ‘5’% X-a
-)=-1tb
b=-3

34. Determine if line that passes through (7, 1) and {10, 5) and the line that passes through (-8, 5) and (-5, 9)
are parallel, perpendicular or neither. Explain.

Gu)and (10,5): m: 5-)

ren
‘ ara\\cli
(-85)and (5,9): m=9-5 >
548 '5-

35. Write an equation in slope-intercept form of the line through points S{(-3, —10) and T(0, -1).

m: -0 4, PRLLAL
o439 =3(0)1b 9:3x-\f
m:3 4oru (0,1) -1=04b -
-

36. Write an equation in slope-intercept form of the line parallel to the line y =—5x+2 through point
P(-10, 1). Y mxtb

m=-5 o (-10,1) 1= -5(-0)+b
1=66th @

b=-44



Complete the following:

37. On the coordinate plane, draw a pair of parallel lines (not horizontal or vertical). Then write the equations

>

of the two lines. A wat O
/]
X* A
|/
i
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t ¥
k4

wned: (3,8) and (-3,3):
3-8 z =8 . z N = IX+
37 °l, b6 )Y 5?

uneh: M=l oy (3,1)

\sz)ﬁb

1= 1(3)4b |9:lx—a
1:3th

-azb

38. On the coordinate plane, draw a pair of perpendicular lines (not horizontal or vertical). Then write the

equations of the two lines.

~0 y imca
& 4 P
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X /
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i

tnca: (3,4) and (1,0)
oY 2 o Al ay—
"“ﬁ-T-l,b-a -)\9-axa}

L-‘ncb; WE —{d H\YU (gla)

Yz mx b -
=-5(8)+b \9:-&;&(0 /
Q=4 tb

b=b



39. Write the equation of the line parallel to line m and passes through point Q.

L] P Clope of hne = -2
At newsiope: “3 4 @ (1,-a)
TN = gemx tb

- L_( \"\,i R=-5()rb
.ﬂ «%z‘%\-b [3 ZX-%/

3
-b_ -3 e ——
B 1| 2272 1b
b--4
3
40. Write the equation of the line perpendicular to line m and passes through point Q.
2
v 0 Cm: -=
TP Slope ok e = -2
N
_. newSI0pE = 2 thn G (1,-a)
I N~
M . yzmx 1/
. o R
| SN = 5004b
qi . é— b H ; *1
4754 Y=3 X3
! -y .3
%. 3tb
-1
b="g
Use the diagram of the cube below to complete the following statements with parallel, perpendicular,
skew, or neither.
B c
41. Plane ABD and Plane EFG are _ paral\e) . /
. | D

42. ABand GHare _ paraliel :
43. AFand EF _ perpendiudlar :
44. ABand GFare S ) i s /.

45, Plane ABC and Plane BFG are ‘gtﬂp; ndialay . ,’




a few samples to help you practice!!l

46. What property is shown by the following statement?

If m/3=ms/5
And m/Z5=m/8
Then mZ3=m/LE

47. Given —8+2(4x—-3)=4+2x, please prove x=3.

Complete the following proofs. Note...you should review all of the proofs that we have done. These are just

Statements Reasons
1. —8+2(4x—3)=4+2x L Gen
2 gifRh-bs 4N 2 Ditrbuhve Property a
S a k=Y ax = (ombine Wive Teyms
ST S Sub haunon Progerty
o uxe\s AdANON Property
° X=} OwAsion Property

48. Using the diagram below, prove that m./5=48°, given that m ||/, m£1=(2x+44)°, and

mZ£5=(5x+38)°

Statements

Reasons

1. m||l, m£1=(2x+44)°,
m£5=(5x+38)°

. Given

b\ave,

2 AN Gy 438 % (onesponding Angles Tout
44 =2 X439 > Subtracnon Property

“ PERP Subtadhon Property

* x-a Dwation Property

> s 5(2)+38 SugsHURON Property

gy  Simphfiation




49. Given mZ1=(5x-3)°, m£3=(2x+6)°, prove m/2=168°.

Statements Reasons
1. mZ1=(5x-3)°, 1. Given
mZ£3=(2x+6)°
2. HX-3 = 2X+tb 2 yernal Ang\eg Theorem
%z > Subhachon onpcny
4,
b%=9 Addirion Pripety
5.
%3 DwAsion Properiy
6 melemed =180 ® Unear paw Posiviate
" 6(3)-3 +m<3-150 7 Supstonon Property
8 13+ meg =160 8 Simpuheanon

9. ™MLz \os®

4. subachon Progerty

50. Given the first two statements and reasons, what reason is used for the third statement?

Statements Reasons
1. Ll and £2 are supplementary 1. Given
2. L2=/3 2. Given

3. ZLland Z3are supplementary

3. Cubstituhon Proporty

51. Given mZ/ABC = (15x+32)°, m/DEF = (9x+68)° and m || n, please prove x=6.

Statements Reasons
1. mZABC =(15x+32)°, 1.
m/DEF =(9x+68)°, mlln G\\M\
2. 1hx+4a=8X 408 2. Altenote Exienior Angles
TheoeM
e, & -
UX+33-08 Subacon froperdy
b X206 * Gubachon Property
LAV, > DwAson froperty

/,7

i B
m E
{9x + 68)* F =

.,/ D



52. Given /1= /3, prove L2z /4.

Statements Reasons

tog¥ " Gwven / / ,
> xly 2- Mtenate Exienor Angles (ONVeISe | < - - >
Ty 3 (orresponding Anges Postorate / /

53. Given 21 = 22, 23 = 24, Prove 4B || CD

Statements Reasons
1. ‘\24& 1. Given
2 a0 2 Verfial Angles Theorem
4. = 4.
| ¥ey Transinve Property
5. K‘é“ f’n > Alemate (eror Angles Convelt
ng NVEN

54. Given: mZLNF =(3x—15)°, mZEFN =(2x+10)°, LN || EF. Please prove: x =37.

Statements

Reasons

1. mZLNF =(3x-15)°
mZEFN =(2x +10)°
LN | EF

1.
Gwen

2. 3y-16+AX+10=180

2. (onseustwe Wiunor  Angles
Theorem

3. h¥-h=\f0 3. Gmbine Lie Terms

4 B 4. pdaron Profery

5. o 5 Prope
A3 Dwigion Proerty

(3x_15)ﬂ (ZX+1D)

L -

N\ FS(



55. Given: L1= /2, /1= /4 . Please prove x || y.

0 g\vcn)

Statements Reasons
Logrqgy L Gwen
a b
v / /
2. 4l b 2. Avrernate \Wnterior Angies Converse « S
3 ¢ Fey > Gwen / /
-‘ 3 4
4, = 4, : /
37y Transinve Property
> Xy > Corresponading Angles (anverse
6. 6.
56. Given: L1243, £1= 22 Statements Reasons
Prove: Z3= /4 1. L1= /3, Z1=2 /2 ik GlVQn
A
D1 2N E
/ \ 3. DE||BC 3. (naspnding Angiet
y 3 AN onverse (bic <1243 b
4, /4=.2 4, correspond\ng Ang\es
Postulate,
5. Z3=/4

> Transmve Propeny




